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This model entrance question paper is designed for students applving to the science stream.

The total 100 marks are distributed as follows: Science: 45 questions (15 each from Physics,
Chemistry, and Biology), Mathematics: 25 questions, English: 20 questions, Nepali: 5 questions,
and 1Q: § questions.

Al questions are multiple choices (MCQs), and there is no negative marking for wrong answers.
Candidates must tick (V) the best option for each. If a candidate ticks more than one option for a
single question, that answer will be considered incorrect.

In this entrance model question paper, the questions are arranged sequentially by subject to help
candidates understand the format; however, in the actual entrance examination, the questions
may be arranged in a random order.

Sample Question
Which of the following is a renewable source of energy?
a. Petroleum b. Natural gas chlar energy  d. Coal

Science Section
Density of water in CGS unit is (CGS w#Em ol w99 #f9  7=)

a. 1000 gm cm™ b. | gmem”

¢. 13.6 gmem™ d. none of above

Which of the following is the vector? (F=mer 7 327 Wil 217)

a. Torque b. mass

c. distance d. volume

Swimming is possible by the (& @ w=a & aroE §78)

a. First law of motion b. Second law of motion
¢. Third law of motion d. Newton's law of gravitation
Water stick on glass due to (faamn o afaar @)

a. Cohesive force b. Adhesive force

c. Electrostatic force d. Magnetic force

Which of the following convert light energy into electrical energy (ot F7 yamr Fwiers faaq
T T T )

a. Photo cell b. bulb

¢. electric iron d. None of above

Gravitational field intensity near the earth surface is equal to (T #az & Tod &GaF1 d@ar & J0
EUELE L

a. G b. g

c. m d R

In third class lever, MA is always ................... |. (71 avfver Seirersm afers wreer @39 &
a. less than b. greater than

¢. equal to d. all

The gas thermometer are more sensitive than liquid thermometer because (@ awmizy @

a. gases expand more than liquid b. gas are easily obtained
c. gases are much lighter d. gases do not easily change their states
The fastest mode of heat transfer is (@17 &qrereerevra) qadwr f@dr afean &7 &17)
a. Conduction b, Convection
¢. Radiation d. all of the above
Voltmeter is connected in (drezfueearg waf wgm nfewgr)
a. Series b. Parallel
¢. mixed d. None of the above
|
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11, Atthe neutral, the compass needle indicates (2 Pragu aemrry s agq fon dardsr )
a. North b. South
c. Last d. none

12, What remains unchanged for light during its refraction from one medium to another medium
(9w s i an ae afvada @)

a. Speed b. wave length
¢. Frequency d. none
13, An air bubble in water behaves as (frar gy wved it 2o w )
a.  Convex lens b. Concave lens
¢. Planc glass plate d. Plano Convex lens
14. Frequency of de is (DC ay smafa #fa ga7)
a. 220 HZ b. 50 HZ
c. OHZ d. SHZ
15. The Dimensional formula of calorie is (v wwasoraal 17 & i)
a. [MLTY b. [MLT?
c. [MLT"] d. [M'LTY

16.  Which gas is evolved when Zine reacts with dilute hydrochloric acid? (wa fawaré araat BrEgTFATE
e atn afsfrm wdw @ wm b )

a. Oxygen b. Hydrogen
c. Nitrogen d. Carbon dioxide
17. Which of the following is non-metal? @@t w1 &7 surq #17)
a, Iron b. Copper
c. Sulphur d. Aluminum
18. Which of the following is a chemical change? (v v %7 wamafas sfafear a7)
a. Melting of ice b. Boiling of water
c. Rusting of iron d. Breaking of Gases

19. Which sct of reactants would you use to prepare carbon dioxide gas in the lab?
(FATTHTATA] FATSTEAFAEE TR AAGA FA FA THAAF ATavaFar =)

a. Zn and CaCO, b. Cu and CaCO,

c. Ag and NaOH d. CaCO; and dil. HCI
20. What is the main component of glass? frarat q&r a1 & & )

a. Silicon dioxide b. Calcium carbonate

c. Sodium chloride d. Potassium nitrate

21. If a farmer wants to reduce chemical fertilizer use, what could be a better alternatives? fz t#
fram TATAAE FAF TAN GRS ARG WA, SqHE TH e F A7)

a. Cement b. Plastic
¢. Organic compost d. Glass powder
22. Which compound would decolorize bromine water? (FF Mfrw s arfrard tréra arde ¢
a. Ethane b. methane
c. Propane d. Ethene
23. What is the valency of carbon? (@dw#1 awqaran #fa g3 1)
a.l b.2
c.3 d.4

24. Suggest a method to prevent corrosion of Iron gates of your school. (@aré® @ warwF! A farm
ANAATE A9T3A FA Afea] JIqE EAr 1)

a. Use gold coating b. Keep them wet
c. Paint them regularly d. Use plastic wrap
25. Which gas is essential for Photosynthesis? (& swreqvrey @t sravas e 1 & 7)
a. Carbon dioxide b. Nitrous oxide
c. Hydrogen d. Sulphur dioxide
26. Why is oxygen important for respiration? (carrgearaay arf sfwram fa el & 7
a. It forms glucose b. It breaks down carbon
c. It helps release energy from food d. It cools the body
2
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27. What is the chemical formula of common salt? @3 gas wmafvs 11 773 #r 7)
a. NaCl b. KCl
¢. NaOH d. HCI
28. A student wants to test acidity of lemon juice. Which indicator should be used? (321 Fravdta
FAF TR YA oW SME A WA TAX FA {F W0 W @A)
a.  Filter paper b. Litmus paper
c. Salt d. Sugar
29. A solution turns red litmus to blue and phenolphthalein to pink it is likely:
(rEen s ae faews Yererd R e arg A v A @i # Ay

a. Acid b. base
c. salt d. Neutral
30. Which gas is used in firc extinguishers? (smi fmsa g=m1 &7 v i =g 7)
a. oxygen b. Hydrogen
c. Carbon dioxide d. Nitrogen

31. The scientific name of a pea is Pisum sativum. What does ‘Pisum’ represent? (Fr#1 Fafaw A
Pisum sativum @1 Pisum 3 F s138)

a. Species b. Kingdom
¢. Genus d. Family
31. To which phylum does the carthworm belong? (&1 #7 HrEewa1 748 ?)
a. Arthropoda b. Mollusca
c. Annelida d. Platyhelminthes
33. What is the primary function of the queen bee in a hive? (1 ar Tt AT W@T F F AT
a. To collect nectar b. To defend the hive
c. To lay eggs d. To build the honeycomb

34. Who is known as the "Father of Genetics" for his experiments with pea plants? (Frs@r drawn wea
AT S FEATE CSEE A wr M ?)

a. Charles Darwin b. Gregor Mendel
c. Louis Pasteur d. R.H. Whittaker
35. The genetic makeup of an organism is called its: (@1 i TAAETE & ")
a. Phenotype b. Genotype
c. Allele d. Chromosome
36. Which of the following is a sex-linked disease?
a. Anemia b. Diabetes
c. Haemophilia d. Tuberculosis

37. The pulmonary artery is unique because it carries: (Tl gt A B fe asa A
a. Oxygenated blood away from the heart
b. Deoxygenated blood away from the heart
c. Oxygenated blood towards the heart
d. Deoxygenated blood towards the heart
38. A person's pancreas is unable to produce sufficient insulin. Which life process will be most
directly affected? (v =riera wnfeFaTad TAA T=fa IeTEA T4 FqAA G | T T B GRA FEI=T
yere ®YEl gaad 9 1)
a. Digestion of fats b. Regulation of blood sugar level
c. Production of red blood cells d. Transmission of nerve impulses
39. During mitosis, a parent cell with 46 chromosomes will produce two daughter cells, each with:
FrraH 77 7)
a. 23 chromosomes b. 46 chromosomes
¢. 92 chromosomes d. a variable number of chromosomes
40. Which gas is primarily responsible for the depletion of the ozone layer? (s aa1 srii@orFT wfi
gerA &4 W faar 7)
a. Carbon dioxide (COz) b. Methane (CHq)
¢. Chlorofluorocarbons (CFCs) d. Sulphur dioxide (SO:)
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41. Consider the food chain: Grass —» Deer —» Tiger. What doces the tiger represent? (arr sgerars
Pasrre arfire win s g —s amn amad & afafdea w
a. Producer b. Primary consumer
¢. Secondary consumer d. Decomposer
42. The process by which drone bees develop from unfertilized eggs is a form of asexual reproduction
known as: (3 ffips mbna qyee) goemne Pt 73 afem, 9 oF gEeE A3frE aaAaa @, armar #

afa=h)
a. Metamorphosis b. Parthenogenesis
¢. Gametogenesis d. Budding

43. What is the correct pathway of a nerve impulse in a simple reflex arc, such as pulling your hand
away from a hot object? (ardt awqarz ara Ay swar avareer Reeves qrbn = aramer wofy amt 73 &1
a. Receptor — Effector — Spinal Cord
b. Receptor — Sensory Neuron — Spinal Cord — Motor Neuron — Effector
¢. Brain — Motor Neuron — Effector
d. Effector — Motor Neuron — Sensory Neuron — Receptor
44, The runoff of excess fertilizers containing nitrates and phosphates from agricultural fields into a
nearby pond can lead to a process called eutrophication. What is the most direct consequence of
this process? (71522 1 e Gk WA TiY Afwda dade e q@iwe aE ofRa g @ ) A ek
T T i #F )
a. The water becomes extremely cold
b. An increase in the fish population due to more food
c. A rapid bloom of algae, which upon dying and decomposing, depletes the water's oxygen
d. An increase in the water's transparency
45. A person suddenly encounters a snake and experiences a rapid heartbeat, increased breathing rate,
and heightened alertness. Which hormone, released from the adrenal glands, is primarily
responsible for this "fight-or-flight" response? (t& afthel 3% &Y ¥ FH ALH TIF7 933,
FARETR W 998, T T % 50 g Utare Py F7 a1 o ar aw gfatearar @i ge

=1 fesar 87)
a. Insulin b. Thyroxine
c. Adrenaline d. Growth Hormone

Mathematics Section
46. If n(A)=11 and n(B)=18, what is the possible maximum value of n(4 N B)?
afz n(A)=111 n(B)=18 wyn(A N B) 3ifimam o= #fa & ?
a. 0 b. 11
c. 18 d. 29
47. The interest compounded semi-annually on Rs P for T years at R% p.a. is sdaiftis s = a8

# P T awgan @it R% =09 4 g7 @

a. CI=P [(I+-)7 — 1] b. CI=P [(I+5=)?" — 1]
c. CI=P [(145)%" 1] d. CI=P [(1+=2)* — 1]

48, If the population of a municipality increases by 2% by birth and 3% by immigration every year,
what is the rate of growth population? af% 3 AT e Hew T T T %o T T
S 3% @ 9g WA, SR g T g

a. 5% b. 6%
c. 10% d. 4%
49. In a square pyramid, each side of a and slant height is then | the area of its triangular surface is

(e i, Yeddh st ok o T og 3¢ | g0 ) awe Fen Helge! anwe)
a. al b. 2al
c. a’+2al d. a’-2al
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50.The arithmetic mean between a and b is given by a2 i) signfirfta norm
a+b

o 3

a-b
T
c. Vab d. ‘E
51. The valuation of a bike is Rs 350,000 and its depreciates every year by 20%, what will be its value
after 2 years? T3 ST GEEH 340,000 WA T TR 67 T00H T 20% A 9 ) 3 2 oty e e #a
a. Rs 280000 b. Rs 224000
¢. Rs 179200 d. Rs 143360

52. A cone with base radius 12cm has 21em height; its volume is 3mare sof 518 12 em t 21 cm 397 sy
FretF ST

a. 3168 cm’ b. 5544
c. 1245 cm’ d.2112 em’
53.1f 2¥*1 x 3¥-2 = 48 what is the value of x?afs 2¥*1 x 3%-2 = 48 333, x 7w 3 g7
a. -2 b.2
c.-3 d.3
54, In the given figure, O is the Centre of the circle. If OA=AB, what is the
measure of 2ACB? fegua fasm, Oaw® 2 R IR 0A=ABT WA, LACBF T fa c
=7
a. 60° b. 90° . :
c.30° d. 45°
55. In the semi-circle given alongside O is the Centre. If OC= 5 cm, BC=6 Cm, A
what is the length of AC? @mih feguat sndgas1 #= 0 8132 OC= 5 cm, BC= 6 Cm, T AC & o
& i g7
a.5cm b. 6cm 3 .
c.8cm d. 10cm
56. Which of the following is not the measure of central tendency? ¥ yaftt ara f= 76 37 g
a. mean b. median
c. Mode d. Range

57. Two children were bomn in the interval of five years. What is the probability of the of alternatives
sexes? ufa aueT srremr g awan Wi | Awfeas forgment wRTE i B7

a.0.25 b. 0.5

c.0.75 d.1
58. What is the altitude of the sun when the length of shadow of vertical pole is equal to its heights?
2TE1 T F1 T TS TEE I SO §21 gAE 39 Fid g6

a.30° b. 45°

. 60° d.75°
59.If set A={1,2,3,4,5,...} is given, then it represents: aRwE A = {1, 2, 3, 4, 5,...... } fsmre
Tga gt ée;

a. Whole numbers b. Rational Numbers

¢. Natural numbers d. Complex numbers
60. n*-—1isdivisibleby 8,ifnis.....afn....8 W n? - | @ 8 wmr v wfFo

a. an integer b. a natural number

c. an odd integer d. an even integer

61. In which quadrant the value of sinx is positive? 37 =ufamn sinx F1 7 T g2
a. first and second b. first and third
c. second and third d. third and fourth

62. If @ and b are mutually perpendicular to each other then, what is the value of If @ . B? af d T
b wrerwdn o e, AR d . b F1 7 Ffd §9?

a. l
c. -1

T
oo
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63. Find the 2 X 2 matrix high transforms A(-3,1) t0 A '(3,1). A(:-3,1) @T§ A'(3, 151 BT 174 2 2 e e
MR

a(y 1) b. (3 9)

1
0 0 1 -1
& (1 1) e (U 1 )
64. What type of series is -2-5-8-11-....... o (15 R T it w4 81 7)
a. arithmetic : b. geometric
c. harmonic d. both a and c.
65. If f{ix +3) =3x+5, then find £'(2). af fix +3) =3x+5 B ¥, '(2) T AN
a.2 b. -2
c.3 d -3

66. If the intersection of plane is parallel to the generator of the cone, what conic section does it form?
R sfrdfaTmr aefm ST T S w3, 760 T TE R AR 9T T

a. Parabola b. circle

c. Hyperbola d. ellipse
67. The sum of the first eleven terms of AP is 198, find the sixth term of the seris? AP % feei TR
gapEE! AR $8¢ B, B it A1 32 vz g e |

a. 10 b. 12

c. 15 d. 18
68. The equation of a straight line that passes through the point (3, 4) and perpendicular to the line
3x+2y+5=0 is (g (3, 4) o= 5 T Y@ 3x+2y+5=0 meva §A @ V@ R

a. 2x-3y+6=0 b. 2x+3y+6=0

c. 2x-3y-6=0 d. 2x+3y-6=0
69. For a data having mean 50 and coefficient of variation 38.42% calculate the standard deviation.
(e reaier w1 7 50 T wtia fvmren 38.42% © v wtra et Framegerd )

a. 20 b. 19.21

c. 19 d. 20.5
70. The parabola y =x? + 4x + 3 intersects the x axis at two points. What is the sum of the x
coordinates of these two points? wrraren y =x%+4x+3 & x svand 3¢ fogm F1ge 41 28 forgeean x Fawiweea
a0 b.

d.

2
c.4 4

English Section
1. Read the given passage and do the tasks that follow.

Who do you think is the most successful? Who do you think is the least successful?

In order to answer these questions, we first need to define success. Everyone has a different definition.
Many of us place great value on reaching various goals. Others associate success with material goods,
measuring it by how much one can get. Others measure success by how much they can give to their
families or the community. There are many other definitions, but mostly, success is related to
becoming rich, famous, and respected at work. Yet, it doesn’t have to be that way.

Being successful could mean simply being satisfied with oneself and one’s career. For many people, a
successful person is someone who feels that his or her work and life offer a high degree of success.
But how does one get from here to there? How does one reach his feeling of satisfaction with life and
carcer? Successful people do two things: they use their abilities in their work and they set career
goals.

In other words, successful people choose careers where they can use their abilities. For
example, successful teachers are people who know how to help people learn, and the best doctors are
those who know how to listen to people. Successful people know where they are starting from
and what direction they want to give their lives, even if it is as simple as raising a happy family.

6
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What do the words in bold in the following sentences from the text mean?

A. Choose the correct option, (5x1=5)
71. Many of us place great value on reaching various goals,

a. give b. take

¢. understand d. help

72. Suceess is related to becoming rich, famous, and respected at work.
a. not being able to achieve something
b. losing something
¢. being able to achieve something
d. being able to play
73. How does one reach his feeling of satisfaction with life and career?

a. person b. job
¢. richness d. poverty
74. They use their abilities in their work and they set carcer goals.
a. determine b. know
¢. learn d. unknown
75. It is simple as raising a happy family.
a. collecting b. bringing up
c. lifting d. riding
B. Choose the best alternative. 15x1=15
76. She shot e door,: ... oo ?
a. don’tshe b. didn't she
c. haven’t she d. doesn't she
T THBF - cnnsemansanan here for 10 years.
a. were working b. had work
c. have been working d. are working
78. Theygotme.............. a letter
a. towrile b. write
c. written d. none of them
79. If he had worked hard, he ................ the exams.
a. would pass b. will pass
c. passed d. would have passed.
80. Listen! someone .................... for help.
a. shouts b. has shouted
c. shouted d. is shouting
81. Mt. Everestis ........ highest peak in the world.
a. a b.an
c. the d. no article
82. Heisfond ......... listening to music.
a. for b. of
c. at d.in
83. I, as well as my friends,............ going abroad.
a. is b. are
c. am d. were
84. He has not completed his work ..............
a. yet b. already
c. always d. none of them
85. Somebody........ococonns outside for you.
a. wait b. waiting
c. iswaiting d. none of them
86. The passive form of ‘Shut the door." i .........oovviiiiiiinn,
a. The door was shut b. Let the door be shut
¢. Be the door shut d. The door must be shut.
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87. Heenquiredifl......... his father.
A, were b. was
c. am d. are
88. lcando.......... you can.
a. that b. which
c. what d. who
RO smreprsnet of cattle is grazing.
a. group b. pride
c. herd d. pack
90. Ram. do the homework ...........cooocviis
a. himself b. hisself
b. yourself d. yourselves

Nepali Section
91. ‘grevs AT Al fRU o TR FH IEE A

F TEEH a Fa
T F T FH
92, W {EA GG |' TF THATE TAT A FIAT FA AW T ¢
F. fasdl T gd q. quré qEA TR |
T F qEA €S | a. gl qEAT 7@ |
93. TWH WX FAF! TR FA A 7
F G q. W
T 9= o, T9ETEN
94, mmﬁwﬁ fé &1 ¢
F.ITEH AT TR AFHT
T AAtaTa o, G
95. wrg 7Y faweg WG | TH ATE QY R FF GRETH 94E
I @, g
1. fasmgm u, PramEnt

IQ Section
96. Find the next number in the series: 2, 3, 5,9, 17,..7 (J@aw@1 s@t @en gan amraerd 1)

a. 31 b. 33
c. 35 d. 37
97. Find the odd one out from the following numbers: (7@ Femee 7 fired?)
b. 27 b. 64
c. 125 d. 256

98. Find the next pair of letters in the series: AZ, BY, CX,...? (feea! f@arar a@ gl Iel T
)
' a. DU b. EV
b. DW d. FU
99. Ram walks 5 KM north, then turns right and walks 3 km. In which direction is he now from his
initial position? (7 ¥ f# fa. gavaw fege, mavd @ #iew 3 fr. B fegm 1 sfeet 9 et ®amame &7

froman 27)
a. North b. East
b. North-east d. South-west
100. Water: Thirst::Food:.....7 (7 : faf = @mr: ..7)
a. Energy b. Hunger
c. Eat d. Drink

r

@ CamScanner



